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QUESTION: 278 

Under which tab can the active partition from the Symantec Recovery Disk be changed? 

A. Recovery 

B. Analyze 

C. Network 

D. Utilities  

Answer: D 

QUESTION: 279 

Which benefit specific to Campus clusters does Veritas Storage Foundation 6.0 for 

Windows offer? 

A. storage live migration 

B. extended attributes 

C. replicated data 

D. site aware allocation  

Answer: D 

QUESTION: 280 

Which command is used to write the data in memory to a disk after modifying a cluster 

configuration? 

A. hacf -verify 

B. haconf -dump 

C. hares -modify 

D. hasys -save  

Answer: B 



 

QUESTION: 281 

What is the recommended number of NICs per system to configure a two node cluster? 

 

 

A. 2 

B. 3 

C. 4 

D. 5 

 

 

Answer: B 

 

 
QUESTION: 282 

Which three media or disk storage devices can recovery points be saved to? (Select three.) 

 

 

A. CD/DVD 

B. Tape Drives 

C. FireWire Drives 

D. SAN/NAS 

E. VTLs  

 

 

Answer: A, C, D 

 

 

QUESTION: 283 

What must be done to enable searching within a recovery point? 

 

 

A. Install a search engine 

B. Register Google Desktop with Symantec Backup Exec System Recovery 8.5 

C. Enable Microsoft Desktop support 

D. Enable search engine support within the backup  

 

 

Answer: D 

 

 

QUESTION: 284 

A mirrored volume displays a status of Degraded. What should be checked to determine the 

cause of this state? 

 



 

A. whether the volume is regenerating 

B. whether the volume has lost fault tolerance 

C. whether the volume is being formatted 

D. whether the volume has started resynchronizing  

 

 

Answer: B 

 

 

QUESTION: 285 

An administrator needs to remove a system from a 32 node cluster. The administrator 

launches the Cluster Configuration Wizard and gets to the Cluster Configuration Options 

page. Which option should the administrator select to remove the system? 

 

 

A. Modify Existing Cluster 

B. Edit Existing Cluster 

C. Reconfigure 

D. RemoveNodes  

 

 

Answer: B 

 

 

QUESTION: 286 

An application is experiencing resource failures. The application administrator wants 

Veritas Cluster Server (VCS) to place the offending resource in an administrative wait state. 

The rest of the application resources should remain online after the resource failure. Which 

service group attribute should the administrator use? 

 

 

A. Frozen 

B. FaultPropagation 

C. AutoFailOver 

D. ManageFaults  

 

 

Answer: D 
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